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DOFE(AN 7 NAD NAH AE N [ AT I AT T
BtAtEA R [ H H | # A H K o|oFk
Eilt e A (AN)] B (\) (N)] C (AN)] D (A) (ha)| E (ha) (ha)| F (ha)
K H T 5.63.04.01 1.03.10.01 | H.17.03.28 2 2 224,271 17,750 16,650 16,650 12,548 17,554 1,022 1,022 1,022
g 224,271 17,750 16,650 16,650 12,548 17,554 1,022 1,022 1,022
H1 EEAHXS 1 =414 2 =M H5
H2 EHERBOFE 1 =3E 2 =R iE
I OH it B & [0 > b IS Bl IS NN - i
i K g3 KWEAL R T &k & |FHEiQEREE | BLAE I R M | 4 R R AL ER 4R A IO B B H o N R
A n gy | BTN B Sy | BT RS S i 3%t R SEALVELK B | UK & H/GX100 | ( )PIEHELE 5Kk B %
C/A X100 C/BX 100 F/E X100 D/C X100 HEWER [EFEEBR] B & &
il (%) (%) (%) (%) (km) (m3/H) (m3/H)| G (m3)| H (m3) (%) OGBHE) (FH) (1)
K H G 7.4 93.8 100.0 75.4 156 4,801 2,819 1,029,046 068,136 94.1 1 1) 149,128
g 7.4 03.8 100.0 75.4 156 1,029,046 968,136 94.1 1 (1) 149,128
T H T = 7 Bt
Z JH o AN &R f Jii] ol & ZASE A # A It g3 B 5 #
RN K AL EL R [E OB IR R |6 OB BE A | AL EE SR A [ RE % [l I SR [R5 E20m3 | 5K A R [ I K P R [RRE I K R E B R E TS0 | A 23S
MREHAR| B A & 720 f B =g &
il (19) (T-H) (M,/m3) (1,/m3) (%) () (%) (%) (%) (%) (1) (%)
K H G 2 101.00 420.22 24.0 2,182 100.3 100.3 20.6 97,782 3.6
g 101.00 120.22 24.0 100.3 100.3 20.6 97,182 8.6
H3 fAEHRR 1 =IKE B LL B 2 =1t il 3 = S|
4 = EFHH| 5 = K& AR 6 =% D1t
T H e = 57\ B
WAm fE A B % Fl i g3 [E] [ g3 “ PE . “ K i 5% It g3
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{8 A0 #5 | flF 28 | RREFIER | HEAESE | B & 1 T S 3y o =SS I 1) o = o= I 1) o = o= EWIEARILE
il (%) (%) (%) (%) (%) (Ia1) (I=1) (%) (%) (%) (%) (%) (%) (%) (%)
K i i 3.0 35.4 N 3.4 0.01 0.02 98.5 24.8 71.5 137.8 102.3 10.8 36.9 32.5
= 3.0 35.4 A 3.4 0.01 0.02 98.5 24.8 71.5 137.8 102.3 0.8 36.9 32.5
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HOH [l A [iB] 1 53 D f® i
[ & 5] Iz A [ s 5] 53 tH
N RN EEE I CE I 2 P E N I A Y 2 P I R R E E e 2 i D Y L R
a=c+e+f | b=c+e Z Rt TR AR fh & FHi A4 g=itk+1 h=i+k ZEHTHEM
A4 (1) (FH)| c (FH)|d (FH)| e (FH) | f (TF1) (1) (T1) (FH)| i (FHD| (M) | k (FHD| 1 (1)
KOOH il 557,552 557,512 97,782 459,730 40 251,924 556,005 555,955 474,737 81,218 50
= 557,552 557,612 07,182 159,730 70 251,024 556,005 555,055 174,737 81,210 50
I H [l s [iB] [l B D BN i
MO [ R BR K[ E EBRK|RLSFIRLE S A & Jii] i %
T A& A& O [ FAGEERE X 8 F] & WA A E ] & R & E=
a—g b—h (c-d)—G-j) [R B X HEAE E XN LR NS
A4 (TH) (T1) (1) (1) (1) (1) (FH) [ FE () (1) (1) (1)
KB il 1,547 1,557 376,955 21,459 97,782 77,789 77,789 329,038 14,300 122,771
= 1,647 1,557 376,055 21,450 07,182 77,780 77,780 329,038 14,300 122,771
HOH & ES 5] I = D ®R L
7 5] [ A
E IR A L L N R R N R R R ;é g |E- R THEAMNE] 2 o at WMo E
e H R &
A4 (TH) (T1) (1) (T1) (1) (T1) (1) (1) (1) (FH)| m (1)
KB il 185,996 185,996 185,996
= 185,096 185,096 185,096
HOH & ES 5] Iz 53 D iR L 1 E B ik =] 25 5 [
iz g B} W X 7= 5l | Ml B\ MR HEHE|BEARAYE it
B EE(CEBREES|MSFH R (M3 HE] £ o it 7t M B »|®& B 4
8 NG 4 m—n
A4 (1) (T1) (1) (1) (FH)| n (1) (1) (1) (1) (T1) (1) (T1)
KB il 308,757 308,757 122,761 122,761 3,058,791 8,409 8,409
= 308,757 308,757 122,761 122,761 3,058,701 5,400 5,400




